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11. Jgst.    3. Test    Datum:  

Klasse: HBF DV     Fach: Mathematik 

Name: 

Punkte:      Note: 

( ) 2xf x =  

( ) 2 1xt x = −

( ) 12xg x −=  

( ) 1
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�0� ( ) 1313 43.048 1,02 55.687,18 55.687f = ⋅ = ≈ �

�0� ( ) 3737 43.048 1,02 20.689,34 20.689f −− = ⋅ = ≈ �
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)

[ ]

: 43.048

ln

60.000
43.048 1,02 60.000 1,02

43.048
60.000

ln
43.048

16,77 17
ln1,02

Im Jahr 2.024 wird Landau etwa 60.000 Einwohner haben.

x xc

x Jahre

⋅ = → =
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13

: 43.04813 13

1313

53.595
43.048 53.595

43.048

53.595
1,245 1,017

43.048
Durchschnittliches jährliches Wachstum:  1,7 %
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